


Rev - 06282023
VALID FOR ORDERS THROUGH 12/31/2023.  
PRICING SUBJECT TO CHANGE AT ANY TIME.

ITEM Part Number Name Price (ea) Image Quantity

2 3-SG-00856 END CAP $135.03

3 5-SG-12263 ROTOR w/ INSERT $1,079.35

3-T 5-SG-12912 TURKISH ROTOR W/ INSERT $1,122.45

4 3-SG-00858 AUGER-ROTOR INSERT w/ 4 SCREWS $115.76

5 MEC-1656 SPRING $10.78

6 3-SG-00891 ADJUSTING SCREW $39.60

7 5-SG-12342 GPX STANDARD PRECISION DISCS $465.00

7-T 5-SG-12478 GPX TURKISH/ULTRAFINE DISCS (FOR ULTRAFINE ROTOR ONLY) $465.00

          GPX PRICING SHEET



Rev - 06282023
VALID FOR ORDERS THROUGH 12/31/2023.  
PRICING SUBJECT TO CHANGE AT ANY TIME.

ITEM Part Number Name Price (ea) Image Quantity

          GPX PRICING SHEET

9 MEC-1055
BALL BEARING  17 X 40 X 12MM (SKF 6203 2RS) or
SINTERED BEARING (1" I.D. X 1-1/8" O.D. X 2-1/2")

$5.90

11 HAR-1708 THRUST WASHER (1" X 2" X 1/8" THK) $2.76

12 HAR-1802 DETENT PLATE $4.55

13 HAR-1800 SPRING PLUNGER SSS-59-N $16.01

14 HAR-1801 4 PRONG HANDLE/PLASTIC KNOBS $2.80

15 HAR-1803 4 PRONG FLUTED PLASTIC KNOBS $2.84

16 3-SG-01419 DIAL INDICATOR KNOB $217.28

17 HAR-1703 HEX BOLT (1/4"-20 X 1/2") $1.50



Rev - 06282023
VALID FOR ORDERS THROUGH 12/31/2023.  
PRICING SUBJECT TO CHANGE AT ANY TIME.

ITEM Part Number Name Price (ea) Image Quantity

          GPX PRICING SHEET

19 3-SG-11487 DISCHARGE SPOUT $288.24

20 3-SG-11488 DECHAFFER ROD HANDLE (03/8 C.R.R. CTWT ROD) $280.69

21 3-SG-11511 COUNTERWEIGHT & KNOB - 03/4 X 13/32 I.D. X 1 $124.28

22 3-SG-11490 GATE (FOR DECHAFFER) $20.00

23 MEC-1579 RETAINING RING $1.05

24 MEC-1580 FLANGED BUSHING 3/8 X 1/2 X 1/4" $1.49

25 HAR-1154 6-32 X 1/4" PHILIPS HEAD $0.25

26 3-SG-11489 GATE KNOCKER (AGITATOR) $54.87



Rev - 06282023
VALID FOR ORDERS THROUGH 12/31/2023.  
PRICING SUBJECT TO CHANGE AT ANY TIME.

ITEM Part Number Name Price (ea) Image Quantity

          GPX PRICING SHEET

27 MEC-1578 FLANGED BUSHING 3/8 X 1/2 X 3/8" $0.56

28 HAR-1155 8-32 X 1/4" SLT. HEAD SCREW $0.10

29 MAT-1005 GASKET - BROWN FELT 1/16INX36W $38.06

30 HAR-1809 ALLIGATOR WIRE CLIP (GROUND) $61.57

31 3-SG-03133 MANUAL SLIDE GATE $125.00

32 HAR-1237 1/4-20 X 1-1/4 BOLT+LK WASHER $0.24

33 HAR-1567 1/4-20 X 1 THUMB SCREW $1.50

34-8lb 5-SG-01353-02 HOPPER 8 LBS SS $863.92



Rev - 06282023
VALID FOR ORDERS THROUGH 12/31/2023.  
PRICING SUBJECT TO CHANGE AT ANY TIME.

ITEM Part Number Name Price (ea) Image Quantity

          GPX PRICING SHEET

34-25lb 5-SG-04310-2 HOPPER 25LB SS $1,270.50

34-50lb 5-SG-04311-02 HOPPER 50LB SS $1,450.00

35-NO SNOUT 5-SG-12351 CONTAINER - TOTE ASSEMBLY WITHOUT SNOUT $213.48

35-SNOUT 5-SG-12350 CONTAINER - TOTE ASSEMBLY WITH SNOUT $716.80

36 3-SG-01625 SNOUT FOR PLASTIC COVER $303.03

36-ELONGATED3-SG-01625-2 ELONGATED SNOUT FOR PLASTIC COVER (for Castered GPX) $547.67

37 HAR-2021 CASTER (EACH) $46.45

38-3PH ELE-1476 ELECTRICAL - STARTER BOX 3PH, 3HP, 220V, 60HZ $485.62



Rev - 06282023
VALID FOR ORDERS THROUGH 12/31/2023.  
PRICING SUBJECT TO CHANGE AT ANY TIME.

ITEM Part Number Name Price (ea) Image Quantity

          GPX PRICING SHEET

38-1PH ELE-1582 ELECTRICAL - STARTER BOX 1PH, 3HP, 220V, 60HZ $663.28

39 HAR-1997 GRATE MAGNET $308.70

40 5-SG-01354 BAG HOLDER PAN $278.25

41 5-SG-12255 GPX DECHAFFER ASSEMBLY $672.72

42 5-SG-12253 DIAL PLATE ASSEMBLY $601.42


	Text1: 
	Text2: 
	Text3: 
	Text4: 
	Text5: 
	Text6: 
	Text7: 
	Text8: 
	Text9: 
	Text10: 
	Text11: 
	Text12: 
	Text13: 
	Text14: 
	Text15: 
	Text16: 
	Text17: 
	Text18: 
	Text19: 
	Text20: 
	Text21: 
	Text22: 
	Text23: 
	Text24: 
	Text25: 
	Text26: 
	Text27: 
	Text28: 
	Text29: 
	Text30: 
	Text31: 
	Text32: 
	Text33: 
	Text34: 
	Text35: 
	Text36: 
	Text37: 
	Text38: 
	Text39: 
	Text40: 
	Text41: 
	Text42: 
	Text43: 
	Text44: 
	Text45: 


